## Bart Robinson, P.E. Director of Public Works



Reanna Mayoral, P.E. Assistant City Engineer

October 16, 2014

Board of Alderman:

The Public Works Department received bids September 30<sup>th</sup>, 2014 to relocate water and sewer utilities on Highway 7 South in conjunction with the FNC Frontage Road Project. The apparent low bid was by Brocato Construction of Batesville, MS. However, after review of Brocato Construction's bid, contractor's license, and conversations between the City's consultant and the Mississippi Board of Contractors, Mr. Brocato requested the State Board of Contractors to remove the portion of his license that made his company eligible to bid on the proposed project. Therefore, it is my recommendation that the City of Oxford award the contract to Eubanks Construction Company in the amount of \$2,575,781.20.

Bart Robinson, P.E. Director of Public Works

BR:cr

## BID TABULATION FOR THE CITY OF OXFORD, MS WATER & SEWER RELOCATIONS FNC FRONTAGE ROAD ON SR7 M.D.O.T. PROJECT NO. SP-STP-0019-02(049)

BID SUMMARY	Engineering Estimate	Batesville, MS	Booneville, MS	Poplar Bluff, MO	Jay Bearden Construction Richland, MS Certificate No. 9155
	\$1,964,414.00	\$2,464,144.51	\$2,575,781.20	\$2,865,749.00	\$2,900,413.00

This is certified to be a true and correct tabulation of bids received:

David G. Daniels, PE

Daniels & Associates, Inc.

# BID TABULATION FOR THE CITY OF OXFORD, MS WATER & SEWER RELOCATIONS FNC FRONTAGE ROAD ON SR7 M.D.O.T. PROJECT NO. SP-STP-0019-02(049)

#### SANITARY SEWER ITEMS

								F L L. O L.	41	IVA IAOO O			
						Brocato Constr	ruction	Eubank Constr Booneville, MS		KAJACS Contr		Jay Bearden C	onstruction
				Engineering Es	stimate	Batesville, MS	TO CONTRACTOR OF STREET			Poplar Bluff, M		Richland, MS	
						Certificate No.		Certificate No.	A STATE OF THE STA	Certificate No.		Certificate No.	
No.	General Items	Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1	Mobilization	1.0	L.S.	\$40,000.00	\$40,000.00		\$131,250.00		\$265,000.00	\$50,000.00	\$50,000.00	\$250,000.00	\$250,000.00
2	Clearing, Grubbing, and Disposal	1.0	L.S.	12,000.00	12,000.00	47,250.00	47,250.00	10,000.00	10,000.00	1,500.00	1,500.00	75,000.00	75,000.00
3	Dewatering	1.0	L.S.	50,000.00	50,000.00	183,750.00	183,750.00	55,000.00	55,000.00	150,000.00	150,000.00	50,000.00	50,000.00
4	Trench Stabilizing Material (4"-6" Limestone)	100.0	Ton	50.00	5,000.00	68.25	6,825.00	55.00	5,500.00	45.00	4,500.00	75.00	7,500.00
-	Silt Fence	1,500.0	L.F.	3.00	4,500.00	3.68	5,520.00	2.00	3,000.00	2.75	4,125.00	4.00	6,000.00
	Erosion Checks (Hay Bales)	20.0	Each	10.00	200.00		315.00	8.00	160.00	13.50	270.00	15.00	300.00
37.0	Erosion Control Blanket	500.0	S.Y.	3.00	1,500.00	2.10	1,050.00	3.00	1,500.00	1.50	750.00	5.00	2,500.00
0.754	Solid Bermuda Sod	500.0	S.Y.	6.00	3,000.00	4.20	2,100.00	4.00	2,000.00	5.50	2,750.00	6.00	3,000.00
9	Seed, Fertilize & Mulch	1.0	L.S.	4,000.00	4,000.00	8,925.00	8,925.00	7,500.00	7,500.00	1,500.00	1,500.00	15,000.00	15,000.00
	Subtotal - General Items				\$120,200.00		\$386,985.00		\$349,660.00		\$215,395.00		\$409,300.00
									*				
No.	42" Sanitary Sewer Items	Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1	42" FRP Gravity Sanitary Sewer Main, Open Cut (12' - 15' Depth)	330.0	L.F.	\$400.00	\$132,000.00	\$342.30	\$112,959.00	\$300.00	\$99,000.00	\$500.00	\$165,000.00	\$400.00	\$132,000.00
2	42" FRP Gravity Sanitary Sewer Main, Installed in 60" Casing	295.0	L.F.	300.00	88,500.00	246.75	72,791.25	250.00	73,750.00	350.00	103,250.00	350.00	103,250.00
3	60" Steel Casing, Road Bore	165.0	L.F.	1,200.00	198,000.00	1,165.50	192,307.50	2,500.00	412,500.00	2,000.00	330,000.00	1,200.00	198,000.00
4	60" Steel Casing, Placed on Pipe Support Bridge	130.0	L.F.	600.00	78,000.00	498.75	64,837.50	450.00	58,500.00	750.00	97,500.00	650.00	84,500.00
5	Tee Base Manhole-42" Base, 42" Riser with Bend, Watertight	3.0	Each	14,500.00	43,500.00	29,400.00	88,200.00	10,000.00	30,000.00	25,000.00	75,000.00	15,000.00	45,000.00
6	Manhole Barrel Extension, 42" Diameter	34.0	V.F.	500.00	17,000.00	194.25	6,604.50	450.00	15,300.00	400.00	13,600.00	700.00	23,800.00
7	Reinforced Concrete Pipe Support Bridge	1.0	L.S.	78,000.00	78,000.00	131,250.00	131,250.00	175,000.00	175,000.00	235,000.00	235,000.00	150,000.00	150,000.00
8	14" Square Pre-Stressed Concrete Pile	2,220.0	V.F.	32.00	71,040.00	68.25	151,515.00	85.00	188,700.00	75.50	167,610.00	80.00	177,600.00
9	PDA Test Pile	1.0	Each	24,960.00	24,960.00	36,750.00	36,750.00	45,000.00	45,000.00	38,000.00	38,000.00	40,000.00	40,000.00
10	Bypass Pumping of Sewer	1.0	L.S.	75,000.00	75,000.00	47,250.00	47,250.00	60,000.00	60,000.00	140,000.00	140,000.00	75,000.00	75,000.00
11	Select Backfill	2,000.0	C.Y.	15.00	30,000.00	18.90	37,800.00	15.00	30,000.00	25.00	50,000.00	55.00	110,000.00
12	Excess Excavation	2,000.0	C.Y.	6.00	12,000.00	5.25	10,500.00	8.00	16,000.00	5.50	11,000.00	20.00	40,000.00
13	Fill Abandoned 30" Sewer Main with Flowable Fill	120.0	C.Y.	200.00	24,000.00	262.50	31,500.00	270.00	32,400.00	120.00	14,400.00	275.00	33,000.00
14	Removal and Backfill of Existing Sewer Manholes (15' Depth)	2.0	Each	4,000.00	8,000.00	4,725.00	9,450.00	2,000.00	4,000.00	10,000.00	20,000.00	3,500.00	7,000.00
15	Verification of Existing Sewer Main Grades	1.0	L.S.	3,000.00	3,000.00	3,675.00	3,675.00	1,500.00	1,500.00	600.00	600.00	15,000.00	15,000.00
_	Tracer Wire	660.0	L.F.	0.25	165.00		138.60	0.20	132.00	0.25	165.00	0.50	330.00
	Subtotal - 42" Sanitary Sewer Items				\$883,165.00		\$997,528.35		\$1,241,782.00		\$1,461,125.00		\$1,234,480.00
	CONTRACTOR (NOTE) CONTRACTOR PRODUCTO INCIDENT									l.	* 2017/10/77		

# BID TABULATION FOR THE CITY OF OXFORD, MS WATER & SEWER RELOCATIONS FNC FRONTAGE ROAD ON SR7 M.D.O.T. PROJECT NO. SP-STP-0019-02(049)

						Brocato Constr	uction	Eubank Constr		KAJACS Contra		Jay Bearden C	onstruction
	SANITARY SEWER ITEMS (continued)			Engineering Es	stimate	Batesville, MS		Booneville, MS		Poplar Bluff, Mo	0	Richland, MS	
							Certificate No. 9590		Certificate No. 10589		Certificate No. 11703		9155
No.	8" Sanitary Sewer Items	Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1	8" PVC, DR 26, Gravity Sanitary Sewer Main, (6' - 8' Cut)	464.0	L.F.	\$25.00	\$11,600.00	\$50.40	\$23,385.60	\$35.00	\$16,240.00	\$30.00	\$13,920.00	\$80.00	\$37,120.00
2	48" Precast Sewer Manhole on Existing Sewer Main – 8' Depth	1.0	Each	2,500.00	2,500.00	5,040.00	5,040.00	2,600.00	2,600.00	3,700.00	3,700.00	4,500.00	4,500.00
3	48" Precast Sewer Manhole - 8' Depth	2.0	Each	2,500.00	5,000.00	5,460.00	10,920.00	2,100.00	4,200.00	3,000.00	6,000.00	3,500.00	7,000.00
4	Tie to Existing Sanitary Sewer Manhole	1.0	Each	2,000.00	2,000.00	4,725.00	4,725.00	1,900.00	1,900.00	1,100.00	1,100.00	1,300.00	1,300.00
5	Select Backfill	580.0	C.Y.	15.00	8,700.00	18.90	10,962.00	15.00	8,700.00	25.00	14,500.00	55.00	31,900.00
6	Excess Excavation	580.0	C.Y.	6.00	3,480.00	5.25	3,045.00	8.00	4,640.00	5.50	3,190.00	20.00	11,600.00
7	Removal and Backfill of Existing Sewer Manholes - 6' Depth	1.0	Each	1,800.00	1,800.00	3,675.00	3,675.00	1,000.00	1,000.00	10,000.00	10,000.00	1,000.00	1,000.00
8	Tracer Wire	464.0	L.F.	0.25	116.00	0.21	97.44	0.20	92.80	0.25	116.00	0.50	232.00
9	Asphalt Pavement Removal & Repair (2 Sites)	34.0	S.Y.	70.00	2,380.00	92.40	3,141.60	100.00	3,400.00	150.00	5,100.00	80.00	2,720.00
10	Connect Existing Sewer Service to New Sewer Main	1.0	Each	300.00	300.00	1,155.00	1,155.00	500.00	500.00	1,200.00	1,200.00	1,000.00	1,000.00
11	Plug Existing 6" Sewer Service in Manhole	1.0	Each	750.00	750.00	840.00	840.00	400.00	400.00	600.00	600.00	650.00	650.00
12	Plug Existing Sewer Service (Barron Drive)	1.0	Each	1,200.00	1,200.00	840.00	840.00	750.00	750.00	700.00	700.00	1,200.00	1,200.00
	Subtotal - 8" Sanitary Sewer Items				\$39,826.00		\$67,826.64		\$44,422.80		\$60,126.00		\$100,222.00
	TOTAL SANITARY SEWER ITEMS		\$1,043,191.00	\$1,452,339.99		\$1,635,864.80		\$1,736,646.00		\$1,744,002.00			

## BID TABULATION FOR THE CITY OF OXFORD, MS WATER & SEWER RELOCATIONS FNC FRONTAGE ROAD ON SR7 M.D.O.T. PROJECT NO. SP-STP-0019-02(049)

					Engineering Estimate		Brocato Construction Batesville, MS Certificate No. 9590		Eubank Construction Booneville, MS Certificate No. 10589		KAJACS Contractors Poplar Bluff, MO Certificate No. 11703		onstruction 9155
No.	Item	Quantity	Unit	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1	Mobilization	1.0		\$ 40,000.00	\$40,000.00			\$ 2,500.00		\$ 45,000.00		\$ 50,000.00	\$50,000.00
2	16" Ductile Iron Pipe, CL. 350	3,100.0	L.F.	65.00	201,500.00		203,608.00		210,800.00		192,200.00		248,000.00
3	12" Ductile Iron Pipe, CL. 350	40.0		44.00	1,760.00		2,100.00		1,760.00		1,760.00		2,200.00
4	10" Ductile Iron Pipe, CL. 350	390.0	L.F.	39.00	15,210.00		12,082.20		13,650.00		14,430.00		17,550.00
	8" Ductile Iron Pipe, CL. 350	2,430.0	L.F.	31.00	75,330.00	26.78	65,075.40		68,040.00		75,330.00		85,050.00
	18" HDPE, DR 11 (Installed in Casing)	300.0	L.F.	80.00	24,000.00	89.25	26,775.00	87.00	26,100.00		31,500.00		33,000.00
	8" HDPE, DR 11 (Installed in Casing)	260.0	L.F.	50.00	13,000.00	23.10	6,006.00	48.00	12,480.00	60.00	15,600.00	35.00	9,100.00
	24" Steel Casing, Bored (2 Site)	370.0	L.F.	200.00	74,000.00	294.00	108,780.00	250.00	92,500.00		155,400.00		120,250.00
	24" Steel Casing, Open Cut (2 Sites)	215.0	L.F.	75.00	16,125.00	94.50	20,317.50	120.00	25,800.00	150.00	32,250.00	130.00	27,950.00
23650	12" Steel Casing, Bored(1 Site)	140.0	L.F.	95.00	13,300.00	199.50	27,930.00	116.00	16,240.00	120.00	16,800.00	175.00	24,500.00
1197,10	12" Steel Casing, Open Cut (2 Sites)	160.0	L.F.	60.00	9,600.00	89.25	14,280.00	110.00	17,600.00	70.00	11,200.00	50.00	8,000.00
110/22/01	4" Steel Casing, Bored (1 Site)	90.0	L.F.	50.00	4,500.00	99.75	8,977.50	60.00	5,400.00	45.00	4,050.00	120.00	10,800.00
	18" HDPE, DR 11, Directional Bore (3 Sites)	770.0	L.F.	165.00	127,050.00	204.75	157,657.50	110.00	84,700.00	150.00	115,500.00	150.00	115,500.00
14	8" HDPE, DR 11, Directional Bore (2 Sites)	440.0	L.F.	95.00	41,800.00	82.95	36,498.00	53.00	23,320.00	50.00	22,000.00	75.00	33,000.00
15	16" Drive Bore, No Casing (1 Site)	50.0	L.F.	90.00	4,500.00	99.75	4,987.50	65.00	3,250.00	100.00	5,000.00	130.00	6,500.00
16	10" Drive Bore, No Casing (1 Site)	32.0	L.F.	60.00	1,920.00	89.25	2,856.00	62.00	1,984.00	75.00	2,400.00	75.00	2,400.00
17	8" Drive Bore, No Casing (6 Sites)	190.0	L.F.	50.00	9,500.00	68.25	12,967.50	50.00	9,500.00	70.00	13,300.00	60.00	11,400.00
18	Collection & Disposal of Drilling Mud	1.0	L.S.	8,000.00	8,000.00	7,875.00	7,875.00	15,000.00	15,000.00	10,000.00	10,000.00	10,000.00	10,000.00
19	3-Way Fire Hydrant Assembly (Factory Coated Yellow)	7.0	Each	3,500.00	24,500.00	3,097.50	21,682.50	4,300.00	30,100.00	4,000.00	28,000.00	3,500.00	24,500.00
20	12" x 12" Wet Tap Assembly, 12" Sleeve & 12" Tapping Valve	2.0	Each	5,500.00	11,000.00	5,670.00	11,340.00	5,500.00	11,000.00	4,800.00	9,600.00	6,000.00	12,000.00
21	8" x 8" Wet Tap Assembly, 8" Sleeve & 8" Tapping Valve	1.0	Each	3,000.00	3,000.00	3,360.00	3,360.00	3,000.00	3,000.00	3,000.00	3,000.00	4,000.00	4,000.00
22	16" Gate Valve & Box	4.0	Each	7,500.00	30,000.00	6,615.00	26,460.00	8,000.00	32,000.00	6,100.00	24,400.00	7,000.00	28,000.00
23	10" Gate Valve & Box	3.0	Each	1,700.00	5,100.00	1,176.00	3,528.00	2,300.00	6,900.00	1,900.00	5,700.00	2,000.00	6,000.00
24	8" Gate Valve & Box	9.0	Each	1,200.00	10,800.00	997.50	8,977.50	1,400.00	12,600.00	800.00	7,200.00	1,400.00	12,600.00
25	10"x2" Service Saddle	2.0	Each	175.00	350.00	234.15	468.30	450.00	900.00	250.00	500.00	500.00	1,000.00
26	8"x2" Service Saddle	2.0	Each	150.00	300.00	234.15	468.30	440.00	880.00	230.00	460.00	450.00	900.00
27	2" Corporation Stop	4.0	Each	250.00	1,000.00	420.00	1,680.00	500.00	2,000.00	400.00	1,600.00	350.00	1,400.00
28	2" Curb Valve	4.0	Each	220.00	880.00	472.50	1,890.00	510.00	2,040.00	400.00	1,600.00	450.00	1,800.00
29	2" HDPE Service Tubing, DR 9, CTS	120.0	L.F.	9.00	1,080.00	6.30	756.00	14.00	1,680.00	5.00	600.00	10.00	1,200.00
30	2" PVC Service Line	160.0	L.F.	5.50	880.00	6.30	1,008.00	12.00	1,920.00	4.50	720.00	9.00	1,440.00
31	Relocate Existing 2" Meter & Box	3.0	Each	400.00	1,200.00	1,260.00	3,780.00	2,500.00	7,500.00	450.00	1,350.00	400.00	1,200.00
32	Relocate Existing 2" Back Flow Preventer	1.0	Each	500.00	500.00	1,260.00	1,260.00	1,500.00	1,500.00	750.00	750.00	600.00	600.00
33	Relocate Existing 1" Back Flow Preventer	1.0	Each	200.00	200.00	840.00	840.00	900.00	900.00	550.00	550.00	450.00	450.00
34	Relocate 2" Service Pressure Reducer	3.0	Each	250.00	750.00	2,520.00	7,560.00	500.00	1,500.00	250.00	750.00	600.00	1,800.00

# BID TABULATION FOR THE CITY OF OXFORD, MS WATER & SEWER RELOCATIONS FNC FRONTAGE ROAD ON SR7 M.D.O.T. PROJECT NO. SP-STP-0019-02(049)

	POTABLE WATER ITEMS (continued)			Engineering E	stimate	Brocato Const Batesville, MS Certificate No.		Eubank Const Booneville, MS Certificate No.	3	KAJACS Contractors Poplar Bluff, MO Certificate No. 11703		Jay Bearden Construction Richland, MS Certificate No. 9155	
35	Meter Box	2.0	Each	100.00	200.00	157.50	315.00	130.00	260.00	A STATE OF THE PARTY OF THE PAR	500.00	THE PROPERTY OF THE PROPERTY OF THE PARTY OF	150.00
36	Jumbo Meter Box	1.0	Each	200.00	200.00	315.00	315.00	250.00	250.00	350.00	350.00	175.00	175.00
37	Reconnect Existing 2" Service	4.0	Each	175.00	700.00	11,550.00	46,200.00	1,500.00	6,000.00	1,000.00	4,000.00	350.00	1,400.00
38	Connect to Existing 10" Main	1.0	Each	1,500.00	1,500.00	997.50	997.50	1,900.00	1,900.00	900.00	900.00	1,600.00	1,600.00
39	Connect to Existing 8" Main	3.0	Each	1,000.00	3,000.00	997.50	2,992.50	1,000.00	3,000.00	800.00	2,400.00	1,400.00	4,200.00
40	Cut, Cap & Block Existing 12" Main	2.0	Each	1,200.00	2,400.00	1,260.00	2,520.00	900.00	1,800.00	800.00	1,600.00	1,200.00	2,400.00
41	Cut, Cap & Block Existing 8" Main	2.0	Each	1,000.00	2,000.00	1,155.00	2,310.00	500.00	1,000.00	700.00	1,400.00	800.00	1,600.00
42	Cap & Block New 16" Main	2.0	Each	1,400.00	2,800.00	1,575.00	3,150.00	1,200.00	2,400.00	1,000.00	2,000.00	1,600.00	3,200.00
43	Cap & Block New 8" Main	1.0	Each	1,000.00	1,000.00	1,575.00	1,575.00	500.00	500.00	800.00	800.00	800.00	800.00
44	Cap Abandoned 10" Main	1.0	Each	300.00	300.00	1,575.00	1,575.00	900.00	900.00	800.00	800.00	1,000.00	1,000.00
45	Cap Abandoned 8" Main	3.0	Each	250.00	750.00	1,575.00	4,725.00	500.00	1,500.00	750.00	2,250.00	800.00	2,400.00
46	Ductile Iron Fittings	8,800.0	Lbs.	5.00	44,000.00	3.15	27,720.00	8.00	70,400.00	4.00	35,200.00	3.00	26,400.00
47	16" Set Screw Retainer Gland	46.0	Each	150.00	6,900.00	157.50	7,245.00	220.00	10,120.00	225.00	10,350.00	190.00	8,740.00
48	12" Set Screw Retainer Gland	10.0	Each	110.00	1,100.00	99.75	997.50	180.00	1,800.00	175.00	1,750.00	140.00	1,400.00
49	10" Set Screw Retainer Gland	26.0	Each	80.00	2,080.00	89.25	2,320.50	130.00	3,380.00	150.00	3,900.00	120.00	3,120.00
50	8" Set Screw Retainer Gland	110.0	Each	65.00	7,150.00	68.25	7,507.50	100.00	11,000.00	125.00	13,750.00	85.00	9,350.00
51	16" Joint Restraint Gaskets	18.0	Each	450.00	8,100.00	288.75	5,197.50	500.00	9,000.00	420.00	7,560.00	375.00	6,750.00
52	8" Joint Restraint Gaskets	9.0	Each	225.00	2,025.00	115.50	1,039.50	165.00	1,485.00	130.00	1,170.00	130.00	1,170.00
53	Asphalt Pavement Removal & Repair (2 Sites)	132.0	S.Y.	70.00	9,240.00	92.40	12,196.80	125.00	16,500.00	140.00	18,480.00	80.00	10,560.00
54	Curb & Gutter Removal and Repair (5 Sites)	46.0	L.F.	60.00	2,760.00	52.50	2,415.00	75.00	3,450.00	40.00	1,840.00	50.00	2,300.00
55	Clearing Grubbing, and Disposal	1.0	L.S.	2,500.00	2,500.00	15,750.00	15,750.00	3,500.00	3,500.00	1,500.00	1,500.00	15,000.00	15,000.00
56	Dewatering	1.0	L.S.	15,000.00	15,000.00	4,725.00	4,725.00	9,000.00	9,000.00	125,000.00	125,000.00	45,000.00	45,000.00
57	Select Backfill	580.0	C.Y.	15.00	8,700.00	18.90	10,962.00	15.00	8,700.00	25.00	14,500.00	55.00	31,900.00
58	Excess Excavation	580.0	C.Y.	6.00	3,480.00	5.25	3,045.00	8.00	4,640.00	5.50	3,190.00	20.00	11,600.00
59	Tracer Wire	7,912.0	L.F.	0.25	1,978.00	0.21	1,661.52	0.20	1,582.40	0.25	1,978.00	0.50	3,956.00
60	Tracer Wire Test Stations	15.0	Each	75.00	1,125.00	105.00	1,575.00	55.00	825.00	100.00	1,500.00	250.00	3,750.00
61	Silt Fence	1,500.0	L.F.	3.00	4,500.00	3.68	5,520.00	2.00	3,000.00	2.75	4,125.00	4.00	6,000.00
62	Erosion Checks (Hay Bales)	60.0	Each	10.00	600.00	15.75	945.00	8.00	480.00	13.50	810.00	15.00	900.00
63	Erosion Control Blanket	500.0	S.Y.	3.00	1,500.00	2.10	1,050.00	3.00	1,500.00	1.50	750.00	5.00	2,500.00
64	Solid Bermuda Sod	500.0	S.Y.	6.00	3,000.00	4.20	2,100.00	4.00	2,000.00	5.50	2,750.00	6.00	3,000.00
65	Seed, Fertilize & Mulch	1.0	L.S.	5,000.00	5,000.00	3,675.00	3,675.00	6,000.00	6,000.00	1,500.00	1,500.00	10,000.00	10,000.00
66	Traffic Control	1.0	L.S.	3,000.00	3,000.00	6,825.00	6,825.00	5,000.00	5,000.00	10,000.00	10,000.00	20,000.00	20,000.00
	Total Potable Water Items				\$921,223.00		\$1,011,804.52		\$939,916.40		\$1,129,103.00		\$1,156,411.00
	Total Base Bid - All Water & Sewer Items				\$1,964,414.00		\$2,464,144.51		\$2,575,781.20		\$2,865,749.00		\$2,900.413.00

## BID TABULATION FOR THE CITY OF OXFORD, MS WATER & SEWER RELOCATIONS FNC FRONTAGE ROAD ON SR7 M.D.O.T. PROJECT NO. SP-STP-0019-02(049)

	ALTERNATE BID ITEMS 30" SANITARY SEWER				1238 N		20 - 20 - 20 - 20 - 20 - 20 - 20 - 20 -		150 370 3700 4		KAJACS Contractors Poplar Bluff, MO		onstruction
						Certificate No. 9	9590	Certificate No.	10589	Certificate No.	11703	Certificate No. 9	9155
1	30" FRP Gravity Sanitary Sewer Main, Open Cut (12' - 15' Depth)	330.0	L.F.	\$400.00	\$132,000.00	\$245.70	\$81,081.00	\$240.00	\$79,200.00	\$365.00	\$120,450.00	\$100.00	\$33,000.00
2	30" FRP Gravity Sanitary Sewer Main, Installed in 48" Casing	295.0	L.F.	300.00	88,500.00	185.85	54,825.75	160.00	47,200.00	240.00	70,800.00	60.00	17,700.00
3	48" Steel Casing, Road Bore	165.0	L.F.	1,200.00	198,000.00	918.75	151,593.75	2,150.00	354,750.00	1,465.00	241,725.00	950.00	156,750.00
4	48" Steel Casing, Placed on Pipe Support Bridge	130.0	L.F.	600.00	78,000.00	341.25	44,362.50	350.00	45,500.00	520.00	67,600.00	550.00	71,500.00
	Total Alternate Bid Items - Sanitary Sewer				\$496,500.00		\$331,863.00		\$526,650.00		\$500,575.00		\$278,950.00

## ALTERNATE BID ITEMS POTABLE WATER

	POTABLE WATER												
1	14" HDPE, DR 11, Directional Bore, (3 Sites)	770.0	L.F.	\$400.00	\$308,000.00	\$155.40	\$119,658.00	\$65.00	\$50,050.00	\$70.00	\$53,900.00	\$110.00	\$84,700.00
2	18" Steel Casing, Bored (2 Sites)	370.0	L.F.	300.00	111,000.00	157.50	58,275.00	150.00	55,500.00	121.00	44,770.00	120.00	44,400.00
3	18" Steel Casing, Open-Cut (2 Sites)	215.0	L.F.	1,200.00	258,000.00	89.25	19,188.75	100.00	21,500.00	90.00	19,350.00	85.00	18,275.00
4	12" Drive Bore, No Casing (1 Site)	50.0	L.F.	600.00	30,000.00	99.75	4,987.50	65.00	3,250.00	80.00	4,000.00	70.00	3,500.00
5	12" Gate Valve & Box	4.0	Each	400.00	1,600.00	1,995.00	7,980.00	2,800.00	11,200.00	2,500.00	10,000.00	3,000.00	12,000.00
6	Cap & Block New 12" Main	2.0	Each	300.00	600.00	1,575.00	3,150.00	900.00	1,800.00	1,000.00	2,000.00	1,600.00	3,200.00
7	12" Joint Restraint Gaskets	18.0	Each	1,200.00	21,600.00	157.50	2,835.00	320.00	5,760.00	220.00	3,960.00	190.00	3,420.00
7-22-00	Total Alternate Bid Items - Potable Water				\$1,723,800.00		\$216,074.25		\$149,060.00		\$137,980.00		\$169,495.00



Phone: 662-236-3981 Fax: 855-787-1839

October 15, 2014

Mr. Bart Robinson, City Engineer City of Oxford 107 Courthouse Square Oxford, MS 38655

Re:

Water & Sewer Relocations / FNC Frontage Road on SR 7

Low Bid by Brocato Construction

Dear Bart:

I received a call from Charles Sharman with the Mississippi State Board of Contractors on Friday, October 10, 2014, regarding the licensure of Brocato Construction, who was the low bidder on the Highway 7 water and sewer relocation project. He stated that he had spoken with Mr. Brocato regarding the issue with his license qualifier for the classification of "Mechanical Work".

Mr. Sharman told Mr. Brocato that he would need to come before the Board of Contractors for a hearing regarding the matter within 60 days. Mr. Sharman stated that Mr. Brocato declined the hearing and asked him to remove the classification of Mechanical Work from his license. Mr. Sharman informed me that he had removed the classification. Attached is a printout from the State Board of Contractors website printed this morning confirming that the classification has been removed.

You will recall from my letter to you dated October 7, 2014, that it was the classification of Mechanical Work that allowed Brocato Construction to bid the City's project. The sub classification of "Underground Utilities" is contained within the major classification of Mechanical Work. The classification of "Underground Utilities" is required to perform potable water line and sanitary sewer line construction according to the Board of Contractors.

Please call if you have any questions or comments.

Sincerely,

David Daniels, PE Consulting Engineer

Attachment

## **BROCATO CONSTRUCTION, INC.**

License Number 09590-MC

Address POST OFFICE BOX 627

City BATESVILLE

State MS

Miss. County PANOLA

Zip 38606

Phone (662)563-4473

Fax (662)563-4750

**DBA Name** 

Expiration Date 10/08/2015

Minority No

Class(es)

Classification

Qualifying Name

CLEARING, GRUBBING, SNAGGING

CHRIS BROCATO

HWY. & ST. DRAINAGE, EXCAVATION, GRADING CHRIS BROCATO INDUSTRIAL PLANT MAINTENANCE

**CHRIS BROCATO** 

PIPELINE CONSTRUCTION

**CHRIS BROCATO** 

TANKS AND VESSELS

**CHRIS BROCATO** 

Officers

(None)

265 North Lamar Blvd., Ste D P.O. Box 1056 Oxford, MS 38655



Phone: 662-236-3981 Fax: 855-787-1839

October 7, 2014

Mr. Bart Robinson, City Engineer City of Oxford 107 Courthouse Square Oxford, MS 38655

Re:

Bid Tabulation for Water & Sewer Relocations /

FNC Frontage Road on SR 7

### Dear Bart:

Attached herewith are three (3) copies of the bid tabulation for the above referenced project. Brocato Construction of Batesville, Mississippi was the low bidder with an amount bid of \$2,464,144.51. I checked with the Mississippi State Board of Contractors to verify Brocato Construction's licensure and qualification to bid the project. I spoke with Dayna Lawrence and Charles Sharman with the Board of Contractors on October 1 and 2, 2014, regarding Brocato's licensure.

The Board of Contractors verified that Brocato Construction had a license that was active on the date of the bid opening, September 30, 2014. Please see the attached printout from the Board of Contractors website which lists the licensure information for Brocato Construction. Note on the printout the classifications and qualifying names for each classification. According to the Board of Contractors, the major classification "Mechanical Work" listed on Brocato's license, qualified them to bid on the City's project for potable water lines and sanitary sewer lines. The sub classification of "Underground Utilities" is the classification needed to bid the City's project and is a subclass of "Mechanical Work".

You will note on Brocato's licensure information that the qualifying individual listed for the classification of "Mechanical Work" is Richard W. Cook. I called Brocato Construction on Wednesday, October 1, 2014, and asked to speak with Richard Cook regarding the bid. The office manager, Kelly Henning, answered my call and stated that they did not have a Richard Cook at the business and that she did not know a Richard Cook. I informed her that Mr. Cook's name was listed on their license as the qualifier for the bid that had just been submitted to the City. She suggested that I speak with the business owner, Chris Brocato, regarding the issue.

I subsequently spoke to Mr. Brocato on October 1, 2014, regarding Mr. Cook's affiliation with his company. He stated that Mr. Cook was neither an owner nor employee of the company, and that he hired Mr. Cook on a contractual basis for projects in which his services were needed. He specifically mentioned that he utilized Mr. Cook for "chiller line" work. I informed Mr. Brocato that this relationship did not meet the requirements of the Rules and Regulations of the Mississippi Board of Contractors for establishing an individual as a qualifier for licensure. See the copy of the attached rules and regulations and the highlighted text on page 2 regarding the requirements to be a "qualifier" on the contractor's license.

After phone conversations with you, I informed Mr. Brocato on October 6, 2014, that you would not recommend acceptance of his bid to the Board of Aldermen unless he could produce documentation

, the state

Mr. Bart Robinson October 7, 2014 Page 2

showing that his bid qualifier, Mr. Cook, was either an owner or regular employee of Brocato Construction. Mr. Brocato stated that he <u>could not</u> provide such documentation.

I recommend that you submit my findings to the City Attorney for review and his opinion as to whether Brocato Construction's bid was a "responsive bid". I relayed my findings to the Board of Contractors and they stated that they would conduct an inquiry into the matter.

Per your request, I have evaluated the bid of the second lowest bidder, Eubank Construction. My review of Eubank Construction's bid found their licensure active and with the required classifications that qualified them to bid the project. Eubank's listed qualifiers are Kevin Eubank and Charles Thompson. Kevin Eubank is the owner and Charles Thompson is a full time employee. They both have the major classification of Municipal and Public Works Construction which covers the work contained in the bid.

In further review of Eubank Construction's bid, addendum number one and a Bid Bond were included with the bid. The Bid Form was found properly executed. The total of Eubank Construction's bid is \$2,575,781.20.

Please let me know if you have any questions or comments and advise me of the City's intent regarding award of the bid.

Sincerely,

David Daniels, PE Consulting Engineer

Atachments

## BROCATO CONSTRUCTION, INC.

License Number 09590-MC

Address POST OFFICE BOX 627

City BATESVILLE

State MS

Miss. County PANOLA

Zip 38606

Phone (662)563-4473

Fax (662)563-4750

DBA Name

Expiration Date 10/08/2015

Minority No

### Class(es)

Classification	Qualifying Name
CLEARING, GRUBBING, SNAGGING	CHRIS BROCATO
HWY. & ST. DRAINAGE, EXCAVATION, GRADING	CHRIS BROCATO
INDUSTRIAL PLANT MAINTENANCE	CHRIS BROCATO
MECHANICAL WORK	RICHARD W. COOK
PIPELINE CONSTRUCTION	CHRIS BROCATO
TANKS AND VESSELS	CHRIS BROCATO

Officers

(None)

## RULES AND REGULATIONS OF THE STATE BOARD OF CONTRACTORS AS APPLIED TO COMMERCIAL CONTRACTORS

## 30-9-802:1.1. Application for Certificate of Responsibility

Pursuant to the powers and responsibilities of the State Board of Contractors conferred by Miss. Code Ann. §§ 31-3-13(f) (1972), as amended, and in accordance with Sections Miss. Code Ann. §§ 25-43-3.101 - 25-43-3.115 (1972), known as the Mississippi Administrative Procedures Law, the Board hereby adopts, establishes and promulgates the following rules and regulations and directs that same be entered upon its minutes and made available to all applicants for initial or renewed Certificates of Responsibility issued by the Board and all other persons.

- 1. The Mississippi State Board of Contractors' ("Board") statutory purpose is to protect the health, safety and general welfare of all persons dealing with those who are engaged in the vocation of contracting and to afford such persons an effective and practical protection against incompetent, inexperienced, unlawful and fraudulent acts of contractors. In carrying out its statutory purpose, the Board issues Certificates of Responsibility and renewals thereof to those engaged in the vocation of contracting, subject to the requirements set forth in law and its Rules and Regulations. Anyone may obtain information from, or make submissions or requests to, in writing or orally, the Executive Director of the Board, whose office is located at 2679 Crane Ridge Drive, Suite C, Jackson, MS 39216, telephone no. (601) 354-6161, during regular office hours between 8 a.m. and 5 p.m. Monday through Friday.
- 2. An applicant for a Certificate of Responsibility or Renewal thereof shall observe the following requirements:
  - a. Certificates or any renewals thereof may be issued at any time during the course of a calendar year by the Executive Director after his determination that the applicant has satisfied all statutory and other requirements prerequisite to the issuance of a certificate or a renewal thereof.
  - b. An application must be filed on a form provided by the Board. No substitute will be accepted.
  - c. The Board's application form must be completed in ink or with a typewriter. Only one copy need be filed.
  - d. All questions must be answered. All schedules must be completed. Write "None" where applicable. No application will be considered unless it is completed as directed on the Board's form.
  - e. Additional information including supplementary or explanatory notes considered necessary may be furnished by inserting schedules where needed.
  - f. All signatures must be affixed where called for and notarized where indicated.
  - g. A check in the amount of One Hundred Dollars (\$ 100.00) made payable to the State Board of Contractors should accompany the application but may be submitted separately. No application will be acted upon until such check is received.
  - h. The privilege tax levied under this Chapter is an annual tax. The Certificate holder is under a duty to renew his certificate annually, and the failure of the Board to notify the Certificate holder as to the date of the expiration shall not excuse the Certificate holder from renewing his certificate and paying the annual tax.
  - i. An applicant for a new certificate shall furnish the Board with at a minimum a reviewed financial statement completed within the prior twelve (12) months on a form prescribed by the Board, prepared and signed by a certified public accountant, stating the assets, liabilities and net worth of the person, firm, partnership,

co-partnership, or corporation. Such statement will be used by the Board to determine the financial responsibility of the applicant to perform work in the amount of Fifty Thousand Dollars (\$50,000.00) or more with respect to public and private projects. Assets of applicants for major classifications must include a net worth of at least Fifty Thousand Dollars (\$0,000.00). Assets of all other applicants must include a net worth of at least Twenty Thousand Dollars (\$20,000.00). The financial statement and any information contained therein, as well as any other financial information required to be submitted by an applicant, shall be confidential. All applicants for renewal certificates shall meet the same requirements set forth above except the following applies regarding financial statements: Certificate holders performing work that is equal to or in excess of Two Million Dollars (\$2,000,000.00) per year shall furnish a reviewed financial statement. Certificate holders performing work that is less than Two Million Dollars (\$2,000,000.00) per year shall furnish a balance sheet prepared in accordance with generally accepted accounting principles.

- j. An applicant must provide a certificate of insurance evidencing current minimum coverage of Three Hundred Thousand Dollars (\$ 300,000) per occurrence and Six Hundred Thousand Dollars (\$ 600,000) aggregate for general liability purposes. An applicant must also provide a certificate of insurance evidencing current workers' compensation coverage, if such coverage is required by state law. All applicants for new and renewal certificates of responsibility shall supply the information set forth herein.
- k. A foreign corporation or a corporation domiciled outside the State of Mississippi must qualify to do business in this State with the office of the Secretary of State and provide the Board with a Certificate attesting to such qualification. (Applicants may contact the office of the Secretary of State by mail to P. O. Box 136, Jackson, Mississippi 39205, or by telephone at 601/359-1350.)
- I. The qualifying party shall be the owner, or a responsible managing employee, or a responsible managing officer, or a member of the executive staff who appears for and takes examination on behalf of the individual,
  co-partnership, or corporation seeking a license as referred to in Miss. Code Ann. § 31-3-13(a). The qualifying
  party is the person who holds the exam scores and must be regularly employed by the Certificate holder and actively engaged in the classification of work for which the person qualifies on behalf of the Certificate holder. The
  Certificate holder shall furnish proof of employment of the qualifying party upon application and renewal. The
  qualifying party must have the necessary experience, knowledge and skills to supervise or perform the contracting
  work in the classification of work for which the person qualifies on behalf of the Certificate holder. When the
  qualifying party terminates employment with the Certificate holder, the Mississippi State Board of Contractors
  must be notified in writing immediately, by the qualifying party and the Certificate holder, of the disassociation or
  the Certificate holder will be subject to suspension or revocation of its Certificate of Responsibility. Another party
  must qualify within ninety (90) days of the disassociation or the Certificate holder will be subject to suspension or
  revocation of its Certificate of Responsibility.
- m. An applicant for renewal of a certificate that has been expired for at least one hundred eighty (180) days shall submit all information required for a new certificate.
- n. Any corporation or other legal business entity holding a valid Certificate of Responsibility shall immediately notify the Board of any change of name or corporate structure by filing an application with the Executive Director of the Board outlining the specific change and the impact on the status of the entity. A fee of \$ 50.00 shall accompany each application filed pursuant to this rule.
- o. The Executive Director may accept and adopt as the requisite objective, standardized examination under <u>Miss.</u> <u>Code Ann. § 31-3-13(a)</u> any comparable examination passed by any applicant that holds a license or certificate in good standing in a comparable classification in another state recognized as a reciprocity state.
- 3. The Board will classify each applicant and issue a Certificate of Responsibility for the type or types of contracts

on which he may bid on the following basis:

- a. The applicant will not be classified or permitted to bid on or perform a type or types of work not included in his request.
- b. The applicant shall state on the application the classification of work he desires to perform and contract, such classification to be selected and determined from the following list of major classifications:
  - (1) Building Construction
  - (2) Highway, Street and Bridge Construction
  - (3) Heavy Construction
  - (4) Municipal and Public Works Construction
  - (5) Electrical Work
  - (6) Mechanical Work
  - (7) SPECIALTY A contractor performing Work other than in the above major classification must qualify as a specialty contractor.
- 4. Any person or entity contracting or undertaking as prime contractor, subcontractor or sub-subcontractor of any tier to do any work as a construction manager shall have a certificate of responsibility either in the specialty classification of construction management or the major classification of Building Construction.
- 5. Should any information contained in any application or presented at an oral interview for a Certificate of Responsibility be found by the State Board of Contractors to be false, such Certificate of Responsibility so issued or application being considered shall thereupon be terminated and withdrawn. No certificate holder or applicant shall be issued a renewal of or an initial Certificate of Responsibility until a period of five (5) years has expired after the date of such termination or withdrawal.
- 6. On proof of qualifications satisfactory to the Board, a Certificate holder may apply for and receive a change in his classification.
- 7. There will be a \$ 50.00 fee charged for each additional classification sought, and a \$ 50.00 fee for each exam taken. Any waiver of an examination shall require a \$ 50.00 fee. There will also be a \$ 50.00 fee for a name change and a \$ 25.00 fee for any specialized information list.
- 8. No certificate of responsibility or any renewal thereof shall be issued until the applicant furnishes proof to the Board that the Certificate holder is in good standing with the Mississippi Secretary of State.
- 9. The passing score for the examination requirement provided in Miss. Code Ann. § 31-3-13(a) (1972, as amended) is a grade of at least 70%. Any applicant for a Certificate of Responsibility must furnish proof of having taken an objective, standardized examination. The Board may administer an oral examination to an applicant, upon request, if such applicant is unable to take a written exam.
- 10. If a Certificate of Responsibility is revoked, lost, mutilated or destroyed, a new license may be issued through

the Board's discretion, upon receipt of a written request from the licensee stating the reason for the request, the Certificate of Responsibility number and check in the amount of Fifty Dollars (\$50.00).

### 30-9-802:1.2. Certificate of Responsibility - Public Procurement

- 1. All agencies having the authority to award a contract involving public funds in the amount of Fifty Thousand Dollars (\$ 50,000.00) or more, shall return, unopened, any bids submitted by a contractor not having a Certificate of Responsibility required by Sections 31-3-1 31-3-23, Miss. Code Ann. (1972, as amended).
- 2. For all purposes herein, "bid" is defined as an offer, whether written or verbal, to perform all or part of a contract.
- 3. When the total cost of a project is at least 50% of a particular classification of work, as determined by the awarding entity or its engineer, architect or other representative, the awarding entity shall allow the older of the certificate of responsibility in that particular classification to bid on or enter into a contract to perform work on the project in its entirety.
- 4. In any case in which a holder of a Certificate of Responsibility has bid outside the classification contained in his, her or its Certificate of Responsibility, the Executive Director of the State Board of Contractors shall notify each holder to appear before the Board at its next regular meeting and show cause, if possible, why the holder's Certificate of Responsibility shall not be suspended.
- 5. When separate bids are received, building contractors having only the classification of "Building Construction" shall not be permitted to bid on or be awarded the Mechanical or Electrical contracts; likewise the Mechanical or Electrical Contractors shall not be permitted to bid on the building portion of a project when the building costs are at least 50% of the project. When combined building, mechanical and electrical bids are received, nothing herein or in any other rule or regulation, shall prohibit the holder of a certificate of responsibility with the classification of building construction from submitting a bid and/or entering into a contract to perform work on a project which consists of at least 50% mechanical, electrical or other classification of work; provided, however, that the holder of a certificate of responsibility with the classification of building construction shall also have the appropriate classification necessary to perform the mechanical, electrical or other classification of work.
- 6. In the event a contractor bids on a job covered by this act without first having obtained a Certificate of Responsibility from the Mississippi State Board of Contractors, his, her or its application for a Certificate of Responsibility shall not be acted upon until a minimum period of ninety (90) days after receipt.
- 7. No state recognizes the Certificate of Responsibility issued by this Board. Therefore, no awarding agency of this state shall consider any bid of a contractor who holds a Certificate of Responsibility or license issued by another state, if the respective bidder does not also have a Certificate of Responsibility issued by the Mississippi State Board of Contractors.
- 8. It shall be unlawful and illegal for a Primary Contractor, Contractor, Owner, Awarding Authority, Subcontractor, or any other person to contract, or subcontract, all of any portion of a public or private construction project regulated by Chapter 527, General Laws of Mississippi 1988 (Sections 31-3-1 31-3-23, Miss. Code Ann. (1972, as amended)), exceeding Fifty Thousand Dollars (\$50,000.00) with respect to public and private projects to any other Contractor, or Sub-Contractor, unless the Contractor, or Subcontractor was duly licensed by this Board as of the date of submission of bids on the work. It is further provided that the Prime Contractor, on or before the date of being awarded the prime contract, shall submit to the awarding agency a list of all subcontracts, exceeding Fifty Thousand Dollars (\$50,000.00) with respect to public and private projects.

9. Either all contractors making up a joint venture or the joint venture itself must hold certificates of responsibility prior to submitting a bid or being awarded a contract. When two or more contractors comprising a joint venture all hold certificates of responsibility, such certificates may be for different classifications of work, but the contract to be awarded should include the classifications of work for which the individual member of the joint venture hold certificates. Further, contractors engaging in a joint venture should not perform work that exceeds the statutory scope of their certificate(s).

When a joint venture submits a bid on a public project in excess of Fifty Thousand Dollars (\$ 50,000.00), and the joint venture itself does not hold a certificate of responsibility, each contractor comprising the joint venture shall place its certificate of responsibility number on the outside of the envelope containing the bid as set forth in Miss. Code Ann. § 31-3-21(2), as amended. If the joint venture itself holds a certificate of responsibility, then it shall place its certificate number only on the outside of the envelope.

10. Any of the foregoing Rules and Regulations of the Board shall not apply to contracts involving federal funds if in violation of federal requirements.

## 30-9-802:2.1. Complaint & Hearing Procedures

The Board shall act in accordance with the following procedures when issuing a complaint and before imposing a monetary penalty upon any contractor pursuant to Miss. Code Ann. § 31-3-21:

- a. Whenever the Board shall receive a sworn affidavit charging a contractor with an act which is grounds for imposition of a monetary penalty pursuant to  $\S 31-3-21$ , or whenever the Board or an employee of the Board has reason to believe that a violation has occurred which is grounds for imposition of a monetary penalty pursuant to  $\S 31-3-21$ , the Board may cause a written complaint to be served upon the alleged violator or violators.
- b. The written complaint shall specify the provisions of such statute, regulation or order alleged to be violated and the facts alleged to constitute a violation thereof and shall require that the alleged violator(s) appear before the Board at a time and place specified and answer the charges complained of. The time of appearance before the Board shall not be less than ten (10) days from the date of the service of the complaint, unless the Board finds that the health, safety and general welfare of all persons dealing with those against whom charges are levied is in imminent danger, requiring that such hearing be held at an earlier date. In no instance, however, shall the Board ever require an alleged violator(s) to appear less than five (5) days after the date of service of the complaint. Service of the complaint may be accomplished by mailing a copy thereof by certified mail, return receipt requested, postage prepaid to the last known mailing or residence address of the alleged violator(s), or by other lawful means of service.
- c. The Board shall afford an opportunity for a fair hearing to the alleged violator(s) at the time and place specified in the complaint. The alleged violator(s) may be represented by counsel, and may call witnesses and present other competent evidence on its behalf. The Board shall conduct an administrative hearing, and shall not be bound by strict rules of civil procedure or strict rules of evidence in the conduct of its proceedings. On the basis of the evidence presented at the hearing, the Board shall make findings of fact and conclusions of law and enter its order. Failure to appear at any such hearing, without prior authorization to do so from the Board, may be taken by the Board as evidence of the facts alleged in the formal complaint.
- d. When a complaint is issued, a notice of hearing shall be issued simultaneously including the date and location of the hearing along with a requirement that the accused contact the Board no later than five (5) days prior to the hearing to schedule a specific time for appearance at the hearing. Failure to contact the Board to schedule a specific time for appearance may result in the accused being heard only after all other scheduled matters have been addressed or not being heard on that scheduled date.

- e. If the accused fails to respond timely to the complaint, then the Board may consider the charges set forth therein and all other available evidence in determining whether the accused has violated the law. In the event the Board finds a violation of the law, then the Board may impose any of the penalties set forth in Miss. Code Ann. § 31-3-21.
- f. Any request for continuance must be made in writing and presented to the Board staff at least five (5) days prior to the scheduled hearing or, upon good cause shown, at any time prior to the hearing. Continuances will not be routinely granted. Instead, a party must show substantial, legitimate grounds for a continuance. Where scheduling conflicts are the basis for requesting a continuance, the party shall provide written proof of such conflicts in a timely manner as set forth herein.
- g. The Board shall render any order in writing and notify the alleged violator(s) of same by certified mail, to the last known mailing or residence address of the alleged violator(s).
- h. At any time before or after being served with a complaint, any alleged violator(s) may waive its right to a hearing before the Board and agree to an imposition of the civil penalty, provided such waiver is in writing.
- i. Any person aggrieved by any order or decision of the board may appeal pursuant to Miss. Code Ann. § 31-3-23, as amended.

### 30-9-802:2.2. Administrative Penalties

In determining the amount of a monetary penalty, the Board shall consider at a minimum the following:

- (1) The willfulness of the violation;
- (2) Any cost of restoration and abatement;
- (3) Any economic benefit to the violator(s) as a result of noncompliance;
- (4) The seriousness of the violation, including any harm to the environment and any harm to the health and safety of the public; and
- (5) Any prior violation by such violator(s).

### 30-9-802:3.1. Board Meetings

If a regular or special meeting of the Board has been recessed to reconvene on a day and time fixed and ordered by the Board and entered upon its minutes, the recessed meeting thus held on the subsequent date shall be considered a part of and continuation of the regular meeting or special meeting, as the case may be, the same as if actions and proceedings then taken had been taken at the initial regular meeting date or special meeting date and any action authorized on such an initial date may be taken or continued and passed upon at the later date or dates.

### 30-9-802:3.2. Executive Director

- 1. Neither the Executive Director, individually, nor the surety of his official bond shall be held financially liable or responsible for any action taken by the Executive Director when he is acting under direct instructions from the Board as shown by the minutes of the Board.
- 2. The Executive Director of the Board is hereby granted authority to execute all Orders passed by the Board as set

forth in the official minutes of the Board. (05/19/93)

#### 30-9-802:3.3. Miscellaneous

- 1. Any of the foregoing Rules and Regulations of the Board may be suspended and/or modified by a majority vote of the State Board of Contractors unless such suspension or modification is inconsistent with the general laws governing the Board and its operation. Such change or modification shall not be effective for a period of ninety (90) days after the date of such suspension or modification.
- 2. If any provision of any section of these Rules and Regulations or the application thereof to any person or circumstances is held invalid, such invalidity shall not affect any other provisions of that section or application of the Rules and Regulations which can be given effect without the invalid provisions or application, and to this end the provisions of these Rules and Regulations are declared to be severable.
- 3. These Rules and Regulations shall become effective thirty (30) days after promulgation and filing with the Secretary of State.